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Alexandrium: 610
D. fortii: O
D. acuminata: 1,120
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Alexandrium: 0
D. fortii: O
D. acuminata: 10
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D. fortii: O
D. acuminata: 20
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Alexandrium: O
D. fortii: O
D. acuminata: O

Alexandrium: 0
D. fortii: O
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Alexandrium: 0
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D. fortii: 0

Alexandrium: O

D. acuminata: O
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Alexandrium: 0
D. fortii: 10
¥ D. acuminata: O

BRYE & .

Alexandrium: O
D. fortii: 0
D. acuminata: 0

Alexandrium: 0
D. fortii: 10
D. acuminata: 0

& H: 2015458118
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TS | KE B9 Y i Dinophysis e

exanariim D. fortii D. acuminata F Db D Dinophysis
k) 9.67 32.92 610 0 1,120 0
@fxH 9.52 33.05 0 0 10 0
BRIk 11.41 32.59 0 0 20 0
@& 15 10.36 32.82 0 0 0 0
GXE#HF| 1003 | 3296 0 0 30 0
GF1R 1023 | 3291 0 0 0 0
DEE 1027 |  32.84 0 10 0 0
@ER 10.20 - 0 0 0 0
OFrE 10.30 - 0 10 0 0
(KR 10.30 - 0 0 0 0
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&R Alexandrium ($E38/L)

" DA |Q84#A Q= YiR [@&H#ik [OAEHEHOER |DES [@&FE [OFE [OXR
12822H 10 0 0 0 0 0 0 = = -
185~6H 130 0 0 0 0 0 0 0 0 0

18138 410 10 0 10 0 0 0 - - -
1819H 360 0 0 0 0 0 0 - - -
18268 1180 0 0 0 0 0 0 - - -
2H2~3H 1430 10 10 0 0 0 0 0 0 0
2H9H 7190 90 10 0 0 0 0 - - -
2H16H 1750 - = - - - - = = =
2824H 1310 940 20 - 210 0 = = - -
3A3H 180 20 20 0 0 40 0 0 0 0
3A9H 170 170 0 - 0 0 - - - -
3H16H 10 0 30 0 0 0 0 0 0 0
3H23~24H 10 0 0 0 0 0 0 0 0 0
3H30H 0 0 0 0 0 10 0 0 0 0
486H 0 10 0 0 0 30 0 0 0 0
4813H 30 20 0 0 0 0 0 0 0 10
4820H 0 0 0 0 0 0 0 0 0 0
4H27H 0 0 0 0 0 0 0 10 10 20
587H 20 0 0 0 - - - - 0 -
5H11H 610 0 0 0 0 0 0 0 0 0

EAR D. fortii $ARREL/L)

O#E QAR |@=-ViR | DEHIE |OXEHEAGCSER |(DEE |®FE |OFE [(OXR

128228 0 0 0 0 0 0 0 - - -
185~6H 0 0 0 0 0 0 0 0 0 0
18138 0 0 0 0 0 0 0 = = -
18198 0 0 0 0 0 0 0 = = =
18268 0 0 0 0 0 0 0 = = =
282~3H 0 0 0 0 0 0 0 0 0 0
2A9H 0 0 0 0 0 0 0 - - -
2H16H 0 - - - - - - - - -
2H24H 0 0 0 - 0 0 - - - -
3H3H 0 0 0 0 0 0 0 0 0 0
3H9H 0 0 0 - 0 0 - - = -
3816H 0 0 0 0 0 0 0 0 0 0
3H23~24H 0 0 0 0 0 0 0 0 0 0
3H30H 0 0 0 0 0 0 0 0 0 0
4H6H 0 0 0 0 0 0 0 0 0 0
4813H 10 0 0 0 0 0 0 0 0 0
4H20H 10 0 0 0 0 0 0 0 0 0
48278 0 0 0 0 0 0 10 0 0 10
5878 20 0 0 10 = = = - 0 =
5811H 0 0 0 0 0 0 10 0 10 0

. D. acuminata ($ARE%L/1)

: OBE QAR Q= ViR |DEHIF |OXEHAGCEIR (DES |®@FE |OFE [(OXR
128228 20 0 0 0 0 0 0 = - -
185~6H 20 0 0 0 0 0 0 0 0 0

18138 70 0 0 0 0 0 0 - - -
18198 80 0 0 0 0 0 0 - - -
18268 110 0 0 0 0 0 0 = = =
2H2~3H 480 0 0 0 0 0 0 0 0 0
2A9H 1250 0 0 0 0 0 0 = = -
2816H 60 - = - - - - - - =
28248 170 10 0 - 0 0 - - - -
3A3H 120 0 0 0 0 0 0 0 0 0
3H9H 710 0 0 - 0 0 - - - -
3H16H 10 10 0 0 0 0 0 0 0 0
3H23~24H 90 0 0 0 0 0 0 0 0 0
3830H 70 0 0 0 0 0 0 0 0 0
486H 0 0 0 0 0 0 0 0 0 0
4813H 120 0 0 0 0 0 0 0 0 0
48208 10 0 0 0 0 0 0 0 0 0
4827H 0 10 0 0 0 0 0 0 10 10
587H 600 10 0 10 - = - - 0 -
58118 1120 10 20 0 30 0 0 0 0 0




